




Eight persons A, B, C, D, M, N, O and P are sitting around 

a circular table facing inside but not necessarily in the 

same order. All of them like eight different subject viz. 

Geography Economics, Maths, Sanskrit, Science, Hindi, 

English and History but not necessary in same order. Two 

persons sit between A and P. D sits between the person 

who like Geography and N and likes History. M sits 

immediate left of P and likes geography. N is in front of B. 

P likes Economecs. Two persons sit between M and O who 

is not adjacent to B. C is not adjacent to M. N and C likes 

English and Maths respectively. A does not like Sanskrit 

and Science. More than two persons sit between the 

person who like English and Sanskrit. 



आठ व्यक्ति A, B, C, D, M, N, O और P एक वृत्ताकार मेज के चारों 

ओर अंदर की ओर उन्मुख होकर बैठे हैं, लेक्तकन जरूरी नहीं क्तक इसी 

क्रम में हों। उन सभी को आठ अलग-अलग क्तवषय पसंद हैं अर्ाात। 

भूगोल अर्ाशास्त्र, गक्तित, संस्कृत, क्तवज्ञान, क्तहंदी, अंगे्रजी और इक्ततहास 

लेक्तकन आवश्यक नहीं इसी क्रम में हो। A और P के मध्य दो व्यक्ति 

बैठे हैं। D, भूगोल पसंद करने वाले व्यक्ति और N और इक्ततहास पसंद 

करने वाले व्यक्तियों के मध्य बैठा है। M, P के ठीक बायें बैठा है और 

उसे भूगोल पसंद है। N, B के सामने है। P को इकोनॉक्तमक्स पसंद है। 

M और O के मध्य दो व्यक्ति बैठे हैं जो B के क्तनकट नहीं है। C, M के 

क्तनकट नहीं है। N और C क्रमशः अंगे्रजी और गक्तित पसंद करते हैं। A 

को संस्कृत और क्तवज्ञान पसंद नहीं है। अंगे्रजी और संस्कृत पसंद करने 

वाले व्यक्तियों के मध्य दो से अक्तिक व्यक्ति बैठे हैं।



Two persons sit between A and P. D sits between the 

person who like Geography and N and likes History. M 

sits immediate left of P and likes geography. N is in front 

of B. P likes Economecs. Two persons sit between M and 

O who is not adjacent to B. C is not adjacent to M. N and 

C likes English and Maths respectively. A does not like 

Sanskrit and Science. More than two persons sit between 

the person who like English and Sanskrit. 

Who likes Hindi?

a. A

b. B

c. O

d. N

e. None of these



Two persons sit between A and P. D sits between the 

person who like Geography and N and likes History. M 

sits immediate left of P and likes geography. N is in front 

of B. P likes Economecs. Two persons sit between M and 

O who is not adjacent to B. C is not adjacent to M. N and 

C likes English and Maths respectively. A does not like 

Sanskrit and Science. More than two persons sit between 

the person who like English and Sanskrit. 

Who sits in front of D?

a. A

b. B

c. C

d. D

e. None of these



Two persons sit between A and P. D sits between the 

person who like Geography and N and likes History. M 

sits immediate left of P and likes geography. N is in front 

of B. P likes Economecs. Two persons sit between M and 

O who is not adjacent to B. C is not adjacent to M. N and 

C likes English and Maths respectively. A does not like 

Sanskrit and Science. More than two persons sit between 

the person who like English and Sanskrit. 

Which of the following pair is true?

a. A likes English

b. B likes Science

c. A sits in front of P

d. D likes Sanskrit

e. None of these



Two persons sit between A and P. D sits between the 

person who like Geography and N and likes History. M 

sits immediate left of P and likes geography. N is in front 

of B. P likes Economecs. Two persons sit between M and 

O who is not adjacent to B. C is not adjacent to M. N and 

C likes English and Maths respectively. A does not like 

Sanskrit and Science. More than two persons sit between 

the person who like English and Sanskrit. No one sit 

between N and D.

Who sits second to the left of N?

a. P

b. B

c. O

d. A

e. None of these



Two persons sit between A and P. D sits between the 

person who like Geography and N and likes History. M 

sits immediate left of P and likes geography. N is in front 

of B. P likes Economecs. Two persons sit between M and 

O who is not adjacent to B. C is not adjacent to M. N and 

C likes English and Maths respectively. A does not like 

Sanskrit and Science. More than two persons sit between 

the person who like English and Sanskrit. No one sit 

between N and D.

Which of the following pair is odd?

a. C-D

b. P-B

c. A-M

d. B-N

e. None of these



Eight persons – P, Q, R, S, T, U, V, and W are sitting at a 

circular table and facing inside. Each person likes 

different numbers viz.- 8, 13, 15, 19, 22, 24, 31, and 32. All 

the information is not necessarily in the same order. The 

consecutive alphabetically named persons are not sitting 

together. S sits third to the right of Q, who likes 15. One 

person sits between the one who likes 15 and P. The 

person sitting third to the right of P sits second to the left 

of the one who likes 24. T sits immediate right of the one 

who likes 19. The one who likes 19 sits facing U, who likes 

22. R likes a number which is 4 more than the number 

liked by Q and sits second to the left of W. W sits facing 

the one who likes a number which is 5 less than the 

number liked by T. V likes a prime number.



आठ व्यक्ति - P, Q, R, S, T, U, V और W एक गोलाकार मेज पर 

बैठे हैं और अंदर की ओर मुख क्तकए हुए हैं। प्रत्येक व्यक्ति को अलग-

अलग संख्याए ँपसंद हैं जैसे- 8, 13, 15, 19, 22, 24, 31, और 32। 

आवश्यक नहीं क्तक सभी जानकारी समान क्रम में हों। क्रमागत 

विाानुक्रम में नाक्तमत व्यक्ति एक सार् नहीं बैठे हैं। S, Q के दाए ंसे तीसरे 

स्र्ान पर बैठा है, क्तजसे 15 पसंद है। 15 पसंद करने वाले व्यक्ति और P 

के बीच एक व्यक्ति बैठता है। P के दाए ंसे तीसरे स्र्ान पर बैठा व्यक्ति, 

24 पसंद करने वाले व्यक्ति के बाए ंसे दूसरे स्र्ान पर बैठता है। क्तजसे 19 

पसंद है वह U की ओर मुख करके बैठा है, क्तजसे 22 पसंद है। R को एक 

संख्या पसंद है जो Q द्वारा पसंद की गई संख्या से 4 अक्तिक है और W 

के बाई ंओर दूसरे स्र्ान पर बैठा है। एक संख्या जो T द्वारा पसंद की 

गई संख्या से 5 कम है। V को एक अभाज्य संख्या पसंद है।



S sits third to the right of Q, who likes 15. One person sits 

between the one who likes 15 and P. The person sitting 

third to the right of P sits second to the left of the one who 

likes 24. T sits immediate right of the one who likes 19. 

The one who likes 19 sits facing U, who likes 22. R likes a 

number which is 4 more than the number liked by Q and 

sits second to the left of W. W sits facing the one who likes 

a number which is 5 less than the number liked by T. V 

likes a prime number.

What is the position of T with respect to the one who likes 

31?

a) Immediate left

b) Second to the right

c) Third to the left

d) Immediate right

e) None of these



S sits third to the right of Q, who likes 15. One person sits 

between the one who likes 15 and P. The person sitting 

third to the right of P sits second to the left of the one who 

likes 24. T sits immediate right of the one who likes 19. 

The one who likes 19 sits facing U, who likes 22. R likes a 

number which is 4 more than the number liked by Q and 

sits second to the left of W. W sits facing the one who likes 

a number which is 5 less than the number liked by T. V 

likes a prime number.

Who among the following person likes 24?

a) The one who sits second to the left of U

b) S

c) The one who sits third to the right of T

d) P

e) None of these



S sits third to the right of Q, who likes 15. One person sits 

between the one who likes 15 and P. The person sitting 

third to the right of P sits second to the left of the one who 

likes 24. T sits immediate right of the one who likes 19. 

The one who likes 19 sits facing U, who likes 22. R likes a 

number which is 4 more than the number liked by Q and 

sits second to the left of W. W sits facing the one who likes 

a number which is 5 less than the number liked by T. V 

likes a prime number.

How many persons are sitting between V and the one who 

likes 32 when counted to the left of V?

a) As many persons are sitting between Q and R when 

counted from the left of R

b) Three

c) Four

d) As many persons are sitting between R and the one who 

likes 24 when counted from the right of R

e) None of these



S sits third to the right of Q, who likes 15. One person sits 

between the one who likes 15 and P. The person sitting 

third to the right of P sits second to the left of the one who 

likes 24. T sits immediate right of the one who likes 19. 

The one who likes 19 sits facing U, who likes 22. R likes a 

number which is 4 more than the number liked by Q and 

sits second to the left of W. W sits facing the one who likes 

a number which is 5 less than the number liked by T. V 

likes a prime number.

If S is related to the one who likes 13, similarly R is related 

to the one who likes 15, then who among the following 

person is related to the one who likes 22?

a) S

b) The one who sits immediate right of R

c) V

d) The one who likes 32

e) None of these



S sits third to the right of Q, who likes 15. One person sits 

between the one who likes 15 and P. The person sitting 

third to the right of P sits second to the left of the one who 

likes 24. T sits immediate right of the one who likes 19. 

The one who likes 19 sits facing U, who likes 22. R likes a 

number which is 4 more than the number liked by Q and 

sits second to the left of W. W sits facing the one who likes 

a number which is 5 less than the number liked by T. V 

likes a prime number.

Which of the following statement is/are not true?

a) The one likes 32 sits immediate right of S

b) Two persons are sitting between W and V when 

counted from the right of V

c) R likes 19

d) U sits immediate right of Q

e) None of these



Eight persons J, K, L, M, N, O, P and Q are seating in a 

row, some are facing north and some are facing south but 

not necessarily in the same order . J sits second to the left 

of L. O sits second to the right of J. No one sits to the left 

of O. As many persons sit to the right of J as sit to the left 

of K. Q doesn’t face south. N sits second to the left of the 

one who sits third to the right of P. Q is not an immediate 

neighbour of P. N and M face opposite direction with 

respect to each other. M face same direction as Q faces. 

आठ व्यक्ति J, K, L, M, N, O, P और Q एक पंक्ति में बैठे हैं, कुछ 

उत्तर की ओर उन्मुख हैं और कुछ दक्तिि की ओर उन्मुख हैं लेक्तकन 

आवश्यक नहीं क्तक इसी क्रम में हों। J, L के बायें से दूसरे स्र्ान पर बैठा 

है। O, J के दायें से दूसरे स्र्ान पर बैठा है। O के बायें ओर कोई नहीं 

बैठा है। J के दायीं ओर उतने ही व्यक्ति बैठे हैं क्तजतने K के बायें बैठे हैं। 

Q का मुख दक्तिि की ओर नहीं है। . N उस व्यक्ति के बायें से दूसरे 

स्र्ान पर बैठा है जो P के दायें से तीसरे स्र्ान पर बैठा है। Q, P का 

क्तनकटतम पडोसी नहीं है। N और M एक दूसरे के संबंि में क्तवपरीत 

क्तदशा की ओर उन्मुख हैं। M, Q के समान क्तदशा की ओर उन्मुख है।



Eight persons J, K, L, M, N, O, P and Q are seating in a 

row, some are facing north and some are facing south but 

not necessarily in the same order . J sits second to the left 

of L. O sits second to the right of J. No one sits to the left 

of O. As many persons sit to the right of J as sit to the left 

of K. Q doesn’t face south. N sits second to the left of the 

one who sits third to the right of P. Q is not an immediate 

neighbour of P. N and M face opposite direction with 

respect to each other. M face same direction as Q faces. 

Who is sitting exactly between Q and K?

(a) O

(b) N

(c) L

(d) J

(e) None of these



Eight persons J, K, L, M, N, O, P and Q are seating in a 

row, some are facing north and some are facing south but 

not necessarily in the same order . J sits second to the left 

of L. O sits second to the right of J. No one sits to the left 

of O. As many persons sit to the right of J as sit to the left 

of K. Q doesn’t face south. N sits second to the left of the 

one who sits third to the right of P. Q is not an immediate 

neighbour of P. N and M face opposite direction with 

respect to each other. M face same direction as Q faces. 

Who sits to the immediate right of M?

(a) Q

(b) L

(c) P

(d) J

(e) None



Eight persons J, K, L, M, N, O, P and Q are seating in a 

row, some are facing north and some are facing south but 

not necessarily in the same order . J sits second to the left 

of L. O sits second to the right of J. No one sits to the left 

of O. As many persons sit to the right of J as sit to the left 

of K. Q doesn’t face south. N sits second to the left of the 

one who sits third to the right of P. Q is not an immediate 

neighbour of P. N and M face opposite direction with 

respect to each other. M face same direction as Q faces. 

As many people are sitting to the right of Q as sitting to 

the left of __?

(a) L

(b) P

(c) N

(d) M

(e) None of these



Eight persons J, K, L, M, N, O, P and Q are seating in a 

row, some are facing north and some are facing south but 

not necessarily in the same order . J sits second to the left 

of L. O sits second to the right of J. No one sits to the left 

of O. As many persons sit to the right of J as sit to the left 

of K. Q doesn’t face south. N sits second to the left of the 

one who sits third to the right of P. Q is not an immediate 

neighbour of P. N and M face opposite direction with 

respect to each other. M face same direction as Q faces. 

Four of the following five are alike in a certain way based 

on the given arrangement and hence form a group. Which 

is the one that doesn’t belong to that group?

(a) N

(b) P

(c) J

(d) M

(e) K



Eight persons J, K, L, M, N, O, P and Q are seating in a 

row, some are facing north and some are facing south but 

not necessarily in the same order . J sits second to the left 

of L. O sits second to the right of J. No one sits to the left 

of O. As many persons sit to the right of J as sit to the left 

of K. Q doesn’t face south. N sits second to the left of the 

one who sits third to the right of P. Q is not an immediate 

neighbour of P. N and M face opposite direction with 

respect to each other. M face same direction as Q faces. 

What is the position of Q with respect to M?

(a) Third to the right

(b) Second to the right

(c) Third to the left

(d) Second to the left

(e) Fourth to the 



Ten persons are sitting in a parallel row and facing each 

other. In Row 1 D, E, F, G and H are sitting and all of 

them face north. In Row 2 L, M, N, O and P are sitting 

and all of them face south. Five persons like different 

colours viz., Red, Green, White, Blue and Black and the 

remaining persons like different fruits viz., Banana, Plum, 

Grapes, Apple and Mango. Only one person sits between 

G who likes white and the one who faces P. Neither G nor 

P sits at the extreme ends. As many persons sit to the right 

of P is same as to the left of O. Only three persons sit 

between the one who faces the one who likes mango and N 

who doesn’t sit adjacent to O. F likes grapes and sits 

diagonally opposite to M. M sits adjacent to the one who 

likes apple. F sits two places away from the one who sits 

opposite to the one who likes black. The one who likes 

green faces the one who likes grapes. The one who likes 

blue sits immediate left of the one who likes grapes. E likes 

plum. Neither M nor H likes fruits. 



दस व्यक्ति एक समानांतर पंक्ति में बैठे हैं और एक दूसरे का सामना कर 

रहे हैं। पंक्ति 1 में D, E, F, G और H बैठे हैं और उन सभी का मुख उत्तर 

की ओर है। पंक्ति 2 में L, M, N, O और P बैठे हैं और उन सभी का 

मुख दक्तिि की ओर है। पांच व्यक्तियों को अलग-अलग रंग पसंद हैं 

जैसे, लाल, हरा, सफेद, नीला और काला और शेष व्यक्तियों को 

अलग-अलग फल जैसे केला, बेर, अंगूर, सेब और आम पसंद हैं। G 

क्तजसे सफेद पसंद है और जो P की ओर उन्मुख है, के बीच केवल एक 

व्यक्ति बैठा है। न तो G और न ही P अंक्ततम छोर पर बैठे हैं। P के दायीं 

ओर क्तजतने व्यक्ति बैठे हैं उतने ही O के बायें बैठे हैं। आम पसंद करने 

वाले व्यक्ति और N जो O के आस-पास नहीं बैठा है, के बीच केवल 

तीन व्यक्ति बैठे हैं। F को अंगूर पसंद है और क्ततरछे क्तवपरीत बैठा है। M 

से। M, सेब पसंद करने वाले व्यक्ति के आसन्न बैठा है। F काला रंग 

पसंद करने वाले व्यक्ति के क्तवपरीत बैठे व्यक्ति से दो स्र्ान दूर बैठा है। 

हरा रंग पसंद करने वाला व्यक्ति अंगूर पसंद करने वाले व्यक्ति की ओर

उन्मुख है। नीला रंग पसंद करने वाला व्यक्ति, अंगूर पसंद करने वाले 

व्यक्ति के ठीक बायें बैठा है। E को बेर पसंद है। न तो M न ही H को 

फल पसंद है।



Only one person sits between G who likes white and the 

one who faces P. Neither G nor P sits at the extreme ends. 

As many persons sit to the right of P is same as to the left 

of O. Only three persons sit between the one who faces the 

one who likes mango and N who doesn’t sit adjacent to O. 

F likes grapes and sits diagonally opposite to M. M sits 

adjacent to the one who likes apple. F sits two places away 

from the one who sits opposite to the one who likes black. 

The one who likes green faces the one who likes grapes. 

The one who likes blue sits immediate left of the one who 

likes grapes. E likes plum. Neither M nor H likes fruits. 

Who among the following person likes Black colour?

a) The one who sits opposite to H

b) The one who sits adjacent to M

c) The one who sits opposite to the one who likes Grapes

d) Both (a) and (b)

e) None of these 



Only one person sits between G who likes white and the 

one who faces P. Neither G nor P sits at the extreme ends. 

As many persons sit to the right of P is same as to the left 

of O. Only three persons sit between the one who faces the 

one who likes mango and N who doesn’t sit adjacent to O. 

F likes grapes and sits diagonally opposite to M. M sits 

adjacent to the one who likes apple. F sits two places away 

from the one who sits opposite to the one who likes black. 

The one who likes green faces the one who likes grapes. 

The one who likes blue sits immediate left of the one who 

likes grapes. E likes plum. Neither M nor H likes fruits. 

Who among the following is an immediate neighbour of 

one who likes green?

a) The one who likes Black

b) The one who likes Banana

c) The one who likes Red

d) The one who likes Apple

e) None of these 



Only one person sits between G who likes white and the 

one who faces P. Neither G nor P sits at the extreme ends. 

As many persons sit to the right of P is same as to the left 

of O. Only three persons sit between the one who faces the 

one who likes mango and N who doesn’t sit adjacent to O. 

F likes grapes and sits diagonally opposite to M. M sits 

adjacent to the one who likes apple. F sits two places away 

from the one who sits opposite to the one who likes black. 

The one who likes green faces the one who likes grapes. 

The one who likes blue sits immediate left of the one who 

likes grapes. E likes plum. Neither M nor H likes fruits. 

How many persons sit between the one who likes grapes 

and the one who sits opposite to O?

a) No one

b) One

c) Three

d) Two

e) None of these



Only one person sits between G who likes white and the 

one who faces P. Neither G nor P sits at the extreme ends. 

As many persons sit to the right of P is same as to the left 

of O. Only three persons sit between the one who faces the 

one who likes mango and N who doesn’t sit adjacent to O. 

F likes grapes and sits diagonally opposite to M. M sits 

adjacent to the one who likes apple. F sits two places away 

from the one who sits opposite to the one who likes black. 

The one who likes green faces the one who likes grapes. 

The one who likes blue sits immediate left of the one who 

likes grapes. E likes plum. Neither M nor H likes fruits. 

If M is related to Plum, L is related to Grapes, then who 

among the following is related to Blue?

a) D

b) G

c) N

d) P

e) None of these



Only one person sits between G who likes white and the 

one who faces P. Neither G nor P sits at the extreme ends. 

As many persons sit to the right of P is same as to the left 

of O. Only three persons sit between the one who faces the 

one who likes mango and N who doesn’t sit adjacent to O. 

F likes grapes and sits diagonally opposite to M. M sits 

adjacent to the one who likes apple. F sits two places away 

from the one who sits opposite to the one who likes black. 

The one who likes green faces the one who likes grapes. 

The one who likes blue sits immediate left of the one who 

likes grapes. E likes plum. Neither M nor H likes fruits. 

Who among the following person sits opposite to the one 

who likes white?

a) The one who likes green

b) The one who likes Apple

c) The one who likes banana

d) The one who likes plum

e) None of these 






